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Which of the following is not included in
calculating GNPFC by Output method?

(1) Unsold Stock

(2) Output for self consumption
(3) Finished Goods

(4) Raw Materials

Deflation is a technique of

(1) Adjust for error

(2) Adjust for change in price level
(3) Adjust for per capita income
(4) All these

Which of the following accounting
system gives information regarding the
savings of the community?

(1) National Income accounting
(2) Flow of funds accounting
(3) Input-Output accounting
(4) Personal Income accounting

Welfare as measured by rising per
capita income, will be better appreciated
if it is achieved by working

(1) Shorter hours
(2) More leisure
(3) Limited hours
(4) Both (1) and (2)

Concept of Marginal Efficiency of
Capital (MEC) was introduced by

(1) Marshall

(2) J.M., Keynes
(3) IM.D. Little
(4) Clark

(4)

10.
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Change in Capital can be negative
because of

(1) Investment < Depreciation

(2) Depreciation < Investment

(3) Income > Investment

(4) Income < Investment

In India, major portion of saving is done
by

(1) Household

(2) DBusiness

(3) Government

(4) Public Sector Undertaking

Attempt on the part of consumers to
save more out of any given income
results in the actual decrease in the
amount they succeed in saving. This
paradox is called

(1) Paradox of Saving
(2) Paradox of Investment
(3) Paradox of Thrill

(4) Paradox of Consumption

IS -LLM Curve was introduced by

(1) Keynes
(2) Hansen
(3) J.R. Hicks

(4) Paul Samuelson

The ‘Life Cycle Hypothesis” of Albert
Ando and Franco Modi Gilani explains
the differences in

(1) Cyeclical and long run investment
function

(2) Current income and Current
Saving _
(3) Cyclical and long run consumption

(4) Current income and Current
investment
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11,

12..

13.

14.

15.

In

taking

money

demand, Keynes

defined Money demand as

(1) Cash and Time Deposit

(2) Cash and demand Deposit

(3) Cash and High Powered Money

(4) Cash and Saving with Post Office
Rate of Interest where planned
investment i1s equal to plannéd saving is
called

(1) Natural Rate

(2) Pure Rate

(3) Money Rate

(4) Market Rate

Supernormal profit can be wiped out in
the long run only if
(1) Cost function of all the companies

(2) Investment junction of all the
companies are same

(3) Revenue function of all the
companies are same

(4) Saving function of all the -

Match the following
trade cycle and profit :

are same

companies are same

relation between

(i) Recession (a) Negative

(1) Boom (b) Low or Negative
(1ii) Recovery (c) Positive

(iv) Depression (d) Highest Level
(1) i-a,ii—bui—c iv—-d

(2) i-— b,di—¢ii—d,iv—a

(3 i-—-b,ii—-d,ili—c,iv—a

4 1-c,ii—d ilii—a,iv—Db

Which theory assumes that increase in
stock of money is invested in financial

assets? A

(1) Quantity theory of Money
(2) Keynesian '

(3) Monetarists

(4) Post Keynesians

(6)

16.

j i 4

18.

19.

20.

LD/710
GiV@n C=102+07Y
[=150-100r~
MS = 300

L=0.25y+124-200r
Equilibrium level of rate of interest will be

(1) 0.6
2) 09
3 012
(4) 0.15

Matech the following :

(1) IS Curve - (a) Vertical
(i) LM Curve ' (b) Downward
sloping

(111) AS Curveof (c¢) Upward
classical’s Sloping

(1) i-b,ii—ciii—a

(2) i—a,ii—b,ii—c

(3) i-b,ii—a,iii-c

(4) i-c,ii—b lii—a

A: Classical ignores  speculative

demand for money

R: Transaction motive for Kevnes was
non existant

(1) Both A & R are true and R is the
correct explanation of A

(2) Both A & R are true and R is not a
correct explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

“Interest is'a reward for. parting with
Liquidity” was conceived by

(1) Ohlin

(2) H. Knight

(3) Keynes

(4) Marshall

The Cobb-Douglas production function
assumes that the elasticity of
substitution is

(1) One

(2) Two

(3) Three

(4) Four
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22,

23.

24.

25.

Input-Output Isoquant is also called
(1) Engineering isoquant

(2) Leontiff isoquant

(3) Kinked isoquant

(4) Convex isoquant

Choice of Techniques is associated with
(1) Marshall

(2) Keynes

(3) A.XK. Sen

(4) Rodan

P, /P, is the slope of

(1) Indifference curve
(2) Isoquant curve
(3) Demand curve

(4) Cost curve

Demand curve can be drawn from

(1) MU curve

(2) PPC
(3) Both
(4) TC curve

Discontinuity of MR
characteristics of

Curve iIs
(1) Cournot Model

(2) Sweezy Model

(3) Bertrand Model

(4) Von-Neuman Model

26.

27.

28’

29.

30.
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A firm will close down in short run if AR
is less than

1) AC
(@ MC

@) AVC

(4) AFC

In the short period, monopolist, firm’s
equilibrium is at

(1) Break even point
(2) AR>AC
(3) AR<AC

(4)  All of these

Downward sloping demand curve is the
feature of

(1) Monopolistic competition
(2) Oligopoly

(3) Perfect competition

(4) None of these

In Case Company is following sales

maximization objective, equilibrium
condition will be

(1) MR=MC

(2) MR>MC

(3) MR<MC

(4 MR=AR

Higher the ep, incidence of taxation can
be shifted to consumer

(1) To lesser extent
(2) To greater extent
(3) Toequal extent
(4) None of these
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32.

33.

34,

35.

Determination of price through
interaction of demand and supply was
introduced by

(1) Walras
(2) Marshall
(3) Pigou

(4) Keynes

Partial equilibrium approach is also
known as

(1) Walrasian approach
(2) Marshallian approach
(3) Pareto approach

(4) Pigou approach

In the long run, Quasi rent will be

(1) Zero

(2) Positive
(3) Negative
(4) Infinite

Share of profit in national income will be
high if

(1) Rate of investment is high

(2) Propensity to save of the capitalist
is high

(3) Propensity to save of the wage
earners 1s less

(4) All of these

The theory of distribution refers to
(1

The distribution of income among

different individuals in the
economy :

(2) The distribution of income among
various factors of production

(3) Both of the above

None of the above

(4)

(10)

38.

f 391

36.

37.

40.
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Grand utility possibility
derived from

frontier is

(1)  Production possibility curve

(2) Laffer Curve

(3) Pareto Curve

(4) Contact Curve

Consumer Surplus left with the
consumer is least in case of

(1) First degree price discrimination
'(2) Second degree price discrimination
(3) Third degree price discrimination
(4) No price discrimination

Demand curve is vertical when elasticity
of demand is

(1) One

(2) Infinite
(@) Zero

(4) Rising

Money said to be neutral when

(1) Change in money supply does not'
have any effect on real sector

(2) Change in money supply lead to
increage in national income

(3I) Change in money supply lead to
decrease in national income .

(4) None of the above

High powered money is controlled by

(1) Public

(2) Government
(3) Businéss

(4) Banks
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42.

43.

44,

45'

Monetary standard under which gold
and silver are fused in specified
proportion is called

(1) Monometallism

(2) Bimetallism

(3) Symmetallism

(4) Multimetallism

Wealth motive of money was explained
by

(1) Friedman
(2) Keynes
(3) Fisher

None of these

(4)

Private banks can be scheduled banks

(1) Always

(2) Sometimes
(3) Never

(4) Crisis times

Open Market operation is a part of

(1) Credit Policy

(2) Income Policy
(3) Price Policy

(4) Monetary Policy

The most volatile part of the organized
money market is the

(1) Gilt edged market
(2) Commercial bill market
(3) Call money market

(4)

Bonds market

(12)

46.

47.

48.

49.

50.
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Fiscal policy is related to

(1) Money supply
(2) Tax rates
(3) Public debt

(4) None of these

Inter bank lending and borrowing takes
place in

(1) Capital Market

(2) Money Market

(3) Debt Market

(4) Call Money Market

Rationing of credit take place when

(1)

Demand for credit is zero

(2) Demand for credit is higher than
supply

(3) Demand for credit is low

(4) None of these

According to Philips curve, increase in
price level leads to

(1)

Decrease in employment

(2) Increase in unemployment
(3) Decrease in unemployment
(4) Full employment

Demand pull inflation leads to

(1) Higher price level
(2) Lower price
(3) Higher unemployment rate

(4) None of these
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52.

53.

55.

Cost-push inflation causes increase in
price and decrease in

(1) Money supply

(2) Unemployment

(3) Output

(4) None of these

Which type of approval is needed for
parliament before spending = from
consolidated fund?

(1) Prior Approval

(2) Post Approval

(3) No Approval

(4) Proper time approval

In case of cash budget, funds which are
not owned by government but used is

(1) excluded
(2) included
(3) ignored

(4) recognised

If government wants to contribute to

capital formation, then revenue surplus
should be

(1) Negative

(2) Equal ro deficit in capital account
(3) Positive

(4) Both (1) and (2)

Octroi is collected by

(1) Central Government
(2) State Government
(3) Local Government

(4) © Federal Government

(14)

56,

57.

58.

59.

60.

LD/710

If 'higher rate of tax is charged on
persons with higher purchasing capacity
then it is called

(1) Direct Tax
(2)  Indirect Tax
(3) Progressive Tax

(4) Regressive Tax

Consumption tax was recommended by
(1)  AM. Khusro

(2) A.XK Sen

(3) Nicholas Kaldor

(4) J.R. Hicks

Revenue expenditure is incurred on
(1) building dams

(2) salaries

(3) 1investment

(4) none of these

Cess is charged

(1) on all goods

(2) for specific purpose

(3) to control money supply

(4) none of these

Cause of trade according to classical
economists was

(1) Dafference in
capital

(2) Differing labour productivity
(3) Both (1) and (2)
(4) None of these

productivity of
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Comparative cost theory was | 65. Deficit in balance of payments can be

propounded by solved by

(1) Adam Smith : (1) Expenditure reducing policies
(2) Ricardo (2) Expenditure switching policies
(3) Malthus (3) Both (1) and (2)

(4) Marshall - (4) None of these

Assumption of Heekscher-Ohlin theory | 66. Fluctuation permitted in the flexible

are exchange rate system is -
(1) Perfect Competition ' (1) = 45%
(2) Perfect factor mobility within (2)  40%
country
3) =£30%

(3) Immobility of factors outside the
country : (4) 30%

(4) All of these
67. Gold Standard was suspended at the

- . time of
Selling a product in a foreign market at
a lower price than in home market is (1) First World War
called
(2) Great Depression of 1930’s
(1) Cartel

: World
(2) Dumping (3) Second World War

(3) Monopoly (4) Qil Crisis of 1970’s

(4)  Price leadership : :
68. Under British rule, the period of

merchant capital started
In the Balance of Payment the gift from

foreigners is (1) After the battle of Plassey

(1) Import of goods (2)  End of the 19® Century

(2) Capital inflow (3) End of the 18% Century

() - Unrquited teceipts (@) Middle of the 18* Century

(4) Unrequited payments
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69.

70.

71.

Major source of revenue for government
under British rule was

(1) Land Revenue
(2) Income Tax
(3) Excise duty

(4) Sales Tax

Who believed that seeds of capitalistic
development existed in the Indian
economy when East India Company
captured power in 17572

(1) D.R. Gadgill
(2) K. S. Shelvankar
(3) Jawaharlal Nehru

(4) Lord Curzon

Name the sector in which maximum
part of labour force was employed before
independence.

(1) Industry
(2) Agriculture
(3) Artisan

(4) Service

Net recoverable reserve of gas was .

estimated at

(1) 500 billion cubic meters
(2) 27 billion cubic meters
(3) 30 billion cubic meters

(4) 35 billion cubic meters

(18)

73.

74.

75.

76.

LD/710

Which state has highest death rate is
20017 :

(1)  Andhra Pradesh
(2) Assam
(3) Madhya Pradesh

(4) Orissa

State which has sex ratio of above
1000 1s

(I)  Orissa
(2) Tamil Nadu
(3) Uttar Pradesh

(4) Kerala

Low value of sex ratio shows

(1) High proportion of dependent
population

(2) Diserimination against females
(3) Low literacy rates

(4)  All the above

At present, India is in

stage of demographic transition.

(1) First
(2) Second
(3) Third

_ (4) Fourth
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14,

79.

78.

80.

Human Development Index was
formulated by

(1) IBRD

(2) UNDP

(3) UNCTAD

(40 ASEAN

Tenth plan aimed at bringing down the
birth rate

(1) 20.1
@ 85

3) 68.2
4) 632

Population policy was given serious
consideration after

(1) 1951 Census
(2) 1961 Census
(3) 1971 Census
(4) 1981 Census

Percent of population 0-14 years age
group in 2001 census is

(1) 60
(2) 40
(3) b4
(4) 85

(20)

31.

82.

33.

LD/710

Rate of dependents in Indian population
is high because of

(I) high rate of growth of population
(2) high death rate
(3)

increasing population.

low birth rate

(4)

In the total population of India, the

percentage of urban population is

(1) 12%
(2) 18%
3) 28%
4) 35%

The rising prices can be checked in India
through

(1) DBudgetary Policy

(2) Monetary Policy

(3) Increasing Production
(4) All of these
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84.

85.

86.

87.

Poverty is measured in terms of

(1) Calorie
(2) Wealth

(3) Education

(4) Money

Which one of the following state is
leading in poverty ratio?

(1) Bihar
(2) drissa
3 UP
4 M.P.

When was PMGRY started to uplift the
people?

(1) 1992-93
(2) 2002-03
(3) 2000-01
(4) 2001-02

Which one of the following government
is sponsore of Annapurna Yojna?

(1) State Govt.
(2) Central Govt.
(3) Local Self Govt.

4 (1) and (2)

(22)

88.

89.

90.
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Name of the programme which 1is
responsible for social security of poor

section of the

(1) Swarnim Yojna

(2) Janshree Bima Yojna
(3) Antvodava Yojna

(4) Bima Gram Yojna

The book “Indian Economic Planning In

Its Broader Setting” was written by
(1) V.K.R.V.Rao

(2) G.Myrdal

(3) K.N.Raj

(49 AK Sen

If ICOR is equal to 5 and government
wants to increase the national income by
Rs. 5,000 Crore, then total investment

needed will be

(1) Rs. 10,000 cr.
(2) Rs. 25,000 Cr.
(3) Rs. 35,000 Cr.

(4) Rs. 40,000 Cr.
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91.

R e

92.

93.

94.

The term “Hindu Rate of Growth” was
coined by

(1) V.K.R.V.Rao
(2) K.N. Raj
(3) Jagdish Bhagwati

(4) 'T.N. Shrinivas

Statistical data of organized
manufacturing sector is collected by

(1) NSSO

(2) Annual Survey of Industries
3 CsO

(4) Finance Commission

From 1951 to 2002, average increase in
per capita income per annum was below

1 1%
@ 2%
3) 3%
(4) 4%

Per Capita Income of India in 2002-03 at
current price 18

(1) Rs. 18,765
(2) Rs. 11,010
(3) Rs. 17,500
(4) Rs. 9,560

(24)

95.

96.

97.

98.

LD/710

From 1951 to 2002, average, increase in
national income, per annum was below

() 1%
2 2%
@) 3%,
4) 4%

Resources are allocated to different
states on the recommendation of

1
(2)
(3)
(4)

Planning Commission
Finance Commission
Finance Ministry

Prime Minister Advisory Council

The largest share of India’s national
income originates in the

(1) Primary Sector
(2) Secondary Sector
(3) Tertiary Sector

Foreign sector

The planning committee was formed in
1939. It was headed by

(1) J.L. Nehru
(2) P.C. Mahalanobis
(3) S.R. Godgil

(4) S.C. Bose
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99.

100.

101.

102.

The National Development Council was
established in

(1) 1950
@ 1952
(3) 1947
(4) 1948

The 10th plan has a target to increase
the literacy rate at the end of it to

(1) 70%
@ 5%
(3) 80%
(4)  85%

Base Year for the 9t Plan was taken as

(1) 1995-96
(2)  1996-97
(3) 1997-98
(4) 1998-99

What was the duration of Plan Holiday?

(1) 1963-66
(2) 1966-69
(3)  1977-79
(4)  1980-82

(26)

103.

104.

105.

LD/710

Focus of the 9th plan was on

(1) Growth

(2) Social Justice
(3) Equity

(4)  All of these

Base Year for the 10* five-year plan was

taken as

(1) 1996-97

(2) 2001-02
(3) 2002-03

(4) 1980-81

What was projected target in the sector

of industrial growth for 10% five-year

pian?

1) 7.93%
2 10%
3) 15%

(4 84%
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106.

107.

108.

109.

Industrial Policy Resolution of 1948
divided industries into

(1) 3 categories
(2) 4 categories
(3) 5 categories
(4) 6 categories

In the Industrial Policy Resolution —
1956, number of industries reserved for
private sector were

(n 12
(2 15
(3) 18
(4) None of these

Joint Sector was advocated by committe

(1) Abid Hussain

(2) Khusro

(3) Dutt

(49 Hazari

In 2003, only industries

remain under the review of industrial
licensing.

(1) 5
(2) 20
3) 25

(4) 30

(28)

111,

112.

113.
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110. Generalised system of preference was

introduced under the aegis of the

(1) UNCTAD
(2 WTO

(3) IBRD

(4) ASEAN

TRIPS agreement provides that the
general terms of a patent shall be

(1) 15yrs

(2) 17 vyrs

(3) 20yrs

(4) 25 yrs

Sick units are referred to
(1) FIPB

(2) BIFR

(3) SIA

(4) DGTD

Deepak Parekh Committee studied the
functioning of

(1) UTI

(2) LIC

(3) GIC

(4) SEBI
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114. Income elasticity of demand for food in

115.

116.

developed countries is Jess than

(1) Zero

+(2). - 1
3) 2
- 37

Green Revolution was initiated in
(1) 4 plan

(2) 5% plan

(3) 6% plan

(4) THplan.

Kisan Credit Card Scheme was

introduced in

(1) 1991
(2) 1996
(3) 1998
(4) 2000

(30)

117.

118.

119,

120.
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Main agency providing food grains to
public distribution system is

(1) NABARD
(2) NAFED
(3) FCI

(4) ICAR

Co-operative Movement was started in
India in

(1) 1904
2 1914
(3) 1924
(4) 1934

What amount was announced by the
finance minister for the development of
rural India over the next three years for
“The Second Green Revolution™?

(1) Rs. 50,000 Cr.
(2) Rs. 15,000 Cr.

(3) Rs. 20,000 Cr.

(4) Rs. 25,000 Cr.

The centre 'on Dec. 30, 2003 raised the
Statutory Minimum Price (SMP) of
sugarcane by per quintal
for the ongoing season.

(1) Rs. 1.50
(2) Rs.2.50
(3) Rs.3.50

(4) Rs. 4.50
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117,
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121. The projected food grain production in

122,

123.

124,

2003-04 is

(1) 183.2mt

(2) 200 mt
(3) 300 mt
(4) 210 mt

The direct subsidy per kg announced by
the Finance Minister to promote
domestic production of tea and make ‘its
price competitive in market abroad

(1) Rs.8

(2 Rs. 12
(3) Rs. 15
(4) Rs. 20

Which of the following years has been
declared by UN as the International
year of Rice?

(1) 2004
(2) 2005
(3) 2007
(4) 2006

Who among the following has been
appointed as the chairperson of the
National Commission of Farmers?

(1) Ram Bihari Singh
(2) Sompal Shastri
(3) Y.C.Nanda

(4) Balram Zakhar

(32)
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125. What is the share of agriculture in the

126.

127.

128.

total export of India?
(1) 20-40%
(2) 15-17%
3) 12-14%

(4 20-25%

At the time of independence, what
percent area of the country was under
the Zamindari System

(1) 30%
(2) 40%
(3) 50%
(4) 60%

Approval rate of Indian export licence
applications to the U.S. in the year 2003
was

(1) 80%
(2) 84%
(3) 90%
(4) 75%

Which among the following state has
decided to develop an export oriented
flower zone called ‘Malancha’?

(1) Kerala

(2) West Bengal

(3) Arunachal Pradesh
(4) Andhra Pradesh
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129.

What was the growth rate of India
during the first quarter of F. Y. 2002-03
as per CMIE report?

(1) 5%
(2) 4%
(3) 6%
@)  5.4%

130. What was the target of fiscal deficit as

131.

132.

per Union Budget 2002-03?

(1) 5.1%
2 5.2%
(3) 5.3%
4) 5.4%

What is the percentage of the thermal
power in India’s power sector?

(1 7%
@ 70%
3) T1%
(4) 81%

What is India’s share of global vegetable
oil imports in 2002-03?

1) 15%
@) 18%
@) 10%
(4) 5%

(34)

133.

134.

136.
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What is the rank of India in the world's

export of carpet in value terms?

(1) 2o
@) 3
@ A
(1) 5

The total amount of subsidy provided by
the Govt. of India on Cooking Gas and
Kerosene for the fiscal year 2003-04 has
been estimated to be around:

(1) Rs. 11,400 Cr.
(2) Rs. 12,900 Cr.
(3) Rs. 13,500 Cr.
(4) Rs. 10.500 Cr.

. The R.B.I. has recently told the Urban

Co-operative banks to sell insurance
product provided they have a minimum
net worth of Rs.

(1) 150 Cr.
(2) 200 Cr.
(3) 100 Cr.
(4) 80 Cr.

As per the government data what is
total sanitation coverage of India till
2003?

(1) 42%
2) 62%
(3) 82%

(4) 52%
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137.

138.

139.

What is the estimated value of Indian
the generic drugs market in the world?
(1) $1.75bn

(2) $1.85bn

3) $3.75bn

(4 $2.25bn

Which state organized 6% Nursery Mela
to give a fresh impetus to horticulture

production and exports?

(1) Maharashtra

(2) Uttar Pradesh
(3) Andhra Pradesh
(4) Kerala

Which crop is related to the three spices
soiled wvanities of “Sudan-1 Red” and
Malabar Gold Garden-1?

(1) Red Pepper
(2) Black Pepper
(3). Red Chilies
(4) Cardamom

(36)

140. In which state,

141.

LD/710

project called FAO

Technical Cooperation Programme will

be implemented for  sustainable
development and management of
shrimps?

(1) Maharashtra

(2) Andhra Pradesh

(3) Kerala

(4) West Bengal

Which company organized a two day
‘Green Business Summit 2003
Hyderabad in association with IT to
promote the green concept in India?

(1) Godrej

(2) Tata Chemicals

(3) Jyothi Laboratories
(4) Hamdard

142. Money in terms of FII investments that

can be easily pulled out is called
(1)

Call money

(2) High power money
(3) Easy money
(4) Hot money

143. The lowest price at which the quantity

demanded is zero

(1) Peak price
(2) Choke price
(3) Best price

(4) Shadow price
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144.

145.

146.

147,

Okun’s Law is associated with

(1) Labour dissatisfaction
(2) Sustainable development
3) Unemp_loymen_t

(4) Wages

A graph which visually presents a
measure of the inequality of a nations
income distribution is called

(1) - Sigmond Curve
(2) Salse Curve
(3) Martinenz Curve

(4) Lorenz Curve

The Chowksi Committee was. related to
(1) Banking Reform

(2) Agrarian Reform

(3) Tax Reform

(4) None of these

Sale or barter of goods on a reciprocal
basis is called

(1) Barter trade
(2) Trade balance
(3) Trivial trade

(4) Counter trade

(38) e LDITA0
148. In 2001 the HDI of Andhra Pradesh
state is '
(1) 0.416
@ 0518
(3) 0.442 ;
4 0512

149. The committee for the Revival of

Regional Rural Banks was headed by
(1) Narasimhan
(2)  Ashok Mehta

- (3) Chalapathi Rao

(4) Raja Chelliah

150. Which among the following states has
- decided to set up 23 handloom bazaars

to prop up the income of rural artisans?
(1) Bihar

(2) . Uttar Pradesh .

(3 Andhra Pradesh

(4) Orissa
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